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2.4 Uniform circular motion

' m rm=2 ¢ onSoud spud on A (iru(u]x\H\

x N udocll-a cmlcmm% c(AM«lyﬁ s L difekin CW.
* Gl dhot » @ d\mtr A vc(ad-’, Pt 1§ accelmaton-

© alcthnnkin & e rade D{ CI\M\ZI of v t(occ:(a

R | Y\
a“‘*-%{;o at

Yy o'n',!-d 15 (av\{-iawlu' a(“(wk\ls? S et
f wlotly 1§ conhinnouly (,Lw[m]



2.4 Uniform circular motion (May 2).notebook

])Ai«.écw\ o{ Aelnkion,
a
! v

Moo, i distoma ravelled
'J"j e crenlar path

oﬂ)ﬂld\iﬁ AX

Note: wif
% e

av AN
A

-0
As 5& ‘70I 9_7 0
which meamg Mt = =2 W

May 02, 2013

AV M’M:V

/'/ lML(ofM
= witm )
ax I,l'ir
: s
S
|l r
AV = A_X_V (]
P
e el
BV oay W
tT af T
Ay (v
ac ' (t)
(adrifzdd acclorshn
mef(l&((;aO"

So  av v, Yo aculeotim
is 1n M same diechion a5 Y oad
will ke L Ly (e almj%uﬂw

of carVivhuse )

Y2




2.4 Uniform circular motion (May 2).notebook May 02, 2013

?Miml o gw gnr Liﬂllu Mﬂm
Dcod T = ine b e cotafim Jredlubim Jrbratin

fime
-7 l/wml S A ! "

freguansg § > haws ) Aohinrilakins [Wbindioy i1
4 U &%( "MQUN M 19) A atims

> s or HZ(LU‘_z) it

NU‘,c Ak ;PQM'M( M\l f(t:o(bmcf I Maf?rocaﬂﬁlh

Y.
e am ’:f:_of_(:_l_



2.4 Uniform circular motion (May 2).notebook May 02, 2013

Mﬁ} e QYPW?‘*'(M ot (wffipda.( Ntduo.knl
. cor { (DMPU'L covolukim arumk &

¥ 0=t ,
‘ Cirele
(\}&'& O (él_f_l_r‘)l \ = %
P ()
T
o= Yitr | d
T (ool spud



2.4 Uniform circular motion (May 2).notebook May 02, 2013

(Mr&ghlﬁw

FBDs Gre \_I_E__}_‘( 'Mfo\{uf Whom 5\&1 M{il;dw[ cm
Ymblms ”l

S a .Loij kuldl{»\j a redlan ?a-“\ s Comtin
0Ctelnmking | Hhant Must be ot (oru. (MHM“ ﬁra
qumb.

?; %

Koo do R e bru o wabatoned ‘qul
I\M{'rl?*d' -

Fut = m&

7

F et
(fhon nay b von too ot b Hook
ft‘)hu";"\ Fet (F&))

Cﬂ\sidn 'hn MOoOO) oflﬂiu‘ fha Eandhe:
- i wh.'s}i[mammmmﬂm

C N ueuﬂo'hx-gﬂ
(; (e MﬁMM on ke o

| @ v but 1 -Iho"osﬂ't digochm .
| J -
\ hols Hhe mooh iy

6 duekad bo e amdre ‘o“‘“‘\
(it Some dafeckion of s accslimshim )

\

-



2.4 Uniform circular motion (May 2).notebook May 02, 2013

Example:
The speed of the Earth in its orbit about the Sun is about 3.0 x 104 m s-' and the
radius of its orbit is 1.5 x 10" m. Calculate the centripetal acceleration of the Earth.
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The period or rotation of a bicycle wheel is 0.25 s. What is its rotation frequency?
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Centripetal Force in a Horizontal and a Vertical Plane
1. A car with a mass of 2135 kg is rounding \ 2
i

not enough friction

a curve on a level road. If the radius of
curvature of the road is 52 m and the
coefficient of friction between the tires
and the road is 0.70. what is the maxi-
mum speed at which the car can make
the curve without skidding off the road?

continued

2. You are playing with a vo-yo with a mass of 225 g. The full length
of the string is 1.2 m. You decide to see how slowly yvou can swing
it in a vertical circle while keeping the string fully extended, even
when the yo-vo is at the top of its swing.

{a) Calculate the minimum speed at which yvou can swing the vo-yvo
while keeping it on a circular path.

{b) At the speed that you determine in part (a), find the tension in the
string when the vo-vo is at the side and at the bottom of its swing.



	Page 1: May 2-11:50 AM
	Page 2: May 2-11:23 AM
	Page 3: May 2-12:36 PM
	Page 4: May 2-12:43 PM
	Page 5: May 2-10:54 AM
	Page 6: May 2-10:47 AM
	Page 7: May 2-10:54 AM

